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76.

Choose the word that can joint the two given
sentences—

Write properly. Don't write at all.

(a) but () and
(¢) so (d) or
Choose the word that can join the two given

sentences—
She is pretty. She is proud.

(@) but (b) because

(c) while (d) not

Identify the verb in the given sentence—
The leaves were yellow and sticky.

(@) leaves (b) were

(c) yellow (d) sticky

Choose the plural of the given word—
Kinfe . o

(@) knife (b) knifes

(¢) knives (d) knifey

Choose the correct spelling—

(a) ricieve (b) recieve

(c) riceive (d) receive

Choose the correct spelling—

(a) posess (b) possess

(c) posses (d) posseis

Choose the incorrect spelling—

(a) loner (b) mathemetics
(c) grammar (d) arithmetic
Which is not a synonym of the given word?
quarrel

(a) argument (b) bickering

(c) discerd (d) quarry

Choose the option to which you cannot add-er at
its end and form a new word.

(a) soon (b) quick

(c). time (d) wich

Choose the best option to complete the given

sentence—
There aren't......people here. -

(a) much (b) many

(c) alot (d) some

Choose the best option to complete the given
sentence—

Youshould ........... your home work.

(a) make (b) do

(c) work (d) give

Choose the correct word order—

(a) Ilent my pencil him
(b) My pencil himI lent him

(c) My pencil hi Ilent

(d) Ilent him my pencil

Choose the option to which you can add-ly at the
end to form a new word—

(a) soon (b) late

(c) now (d) fast

Which prefix can be used with the following
words?

take, chicf, bchave
(a) non

(b) dis
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86.
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90.

(©) in (d) mis
Fill in the blank with correct preposition—
He deals

(@ in (b) with
(c) at (d) on
Which suffix can be used with the following

words?

spoon, mouth
(@ ily ®) y
(c) er (d) ful
for the question below, choose the best answer

shall we go to the gym now?

(a) I'am too tired (b) It's very good

(c) Notat all (d) Isupposeyou can
Which is the adjective in the given sentence?
The tall girl met a boy.

(@) tall (b) girl

(c) met (d) boy

Which is not an antonym of the given word?
lovely

(a) tall (b) ugly

(c) drab (d) awful

Choose the best answer—

What is your city like?

(@) Ihavenoidea (b) It's small. but nice
(c) Ilikeitalot (d) Idon'tlike it
Identify the adverb in the given sentence—
The wicked boy slapped the girl loudly.

(@) wicked (b) boy

(c) slapped (d) loudly

Chooose the word opposite in meaning to the given
word—

drought ‘
(@) flood (b) drfyness
(c) brought (d) river

Choose the word opposite in meaning to the given
word—

ability
(a) feasibility (b) unability

(c) disability (d) inability
Choose the correct word order—

(a) Music Jack loves (b) Music loves Jack
(c) Jack loves music  (d) Jack music loves
Choose the correct pronoun—
It was my brother who went with
(@) her (b) she
(c) he (d) his
What are words that spell the same backwards
called?

(a) Anagram
(c¢) Crossword

(b) Abbreviation
(d) Palindrome

Choose the plural ofthe given word— box
(a) box (b) boxer

(c) boxs (d) boxes

Choose the singular of the given word—
Leaves

(a) leave (b) leaf

(c) levee (d) None of these
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= (+6) x (+20) x (-6)
=120 x (-6) =— 720

1. (¢)
7. (d)
13. (b)

19. (b)
25. (¢)

31. (d)
37. (c)
43.(d)
49. (b)
55.(c)

36. (a)
42. (a)
48. (¢)
54. (a)
60. (¢)

61. (c)
67. (d)
73. (b)
79. (¢)
85. (d)

66. (¢)
72. (b)
78. (d)
84. (a)

90. (b)

91. (¢)

92. (a)

93.

94. (a) 3T A9 =8.350-3.178 =5.172
=5 f&am 172 I
95. ) ~r¥i B ad gm R Ry =27,
3.5 9 B aret g ) Ry
=2x%x3.5=2x22x0.5=11.0'§‘ﬂ|’(
96. (¢) 9+7)+4x5=9
?ZEX5=4XS=2O
4
97. (c)
98. (b) WA WET & W et x Wreer 81
THER, x - 14=6
SoX=6+14=20
7.1 1 75
99. (b) T+—+|—xI =lged| Lo
®37% (1 ) J 379 (10x4j
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